3aBaaHHs 411 poOOTH 3a TEMOIO:
«/ludepeHniianbhi piBHSIHHS 3
B1JIOKPEMJICHUMH Ta BIJOKPEMITIOBAHUMH 3MIHHUMI)

Po3B’sa3aTH piBHSAHHSA:

1.1.4xdx — 3ydy = 3x*ydy — 2xy *dx
1.2.de — ydy = x*ydy
1.3.6xdx — 6ydy = 2x*ydy — 3xy *dx
1.4.(e** +5)dy + ye**dx =0
1.5.6xdx — 6ydy = 3x*ydy — 2xy *dx
1.6.2xdx — 2ydy = x*ydy — 2xy *dx
1.1.4xdx — 3ydy = 3x*ydy — 2xy *dx
1.2.de — ydy = x*ydy
1.3.6xdx — 6ydy = 2x*ydy — 3xy *dx
1.4.(e** +5)dy + ye**dx =0
1.5.6xdx — 6ydy = 3x? ydy — 2xy *dx
1.6.2xdx — 2ydy = x*ydy — 2xy *dx
1.18 ylny+xy =0

1.19 (1+e*)y =ye*

120 V1-x2y +xy? +x=0

1.21 6xdx —2ydy = yx*dy —3xydx
1.22 yd+Iny)+xy =0

1.23 (3+e)yy =¢*

124 J3+y? +41-x2yy =0

1.25 xdx — ydy = yx*dy — xy*dx
1.26 de+ A(X*y +y)dy =0
1.27 (1+e¥)yy =¢*

1.28 3(x’y+y)dy++2+y’dx=0
1.29 2xdx — ydy = yx“dy — xy *dx
130 2x+2xy2 +2—x?y =0
1.31 20xdx — 3ydy = 3x°ydy — 5xy*dx




